



Article

Mathematical Analysis of a Thermostatted Equation with a Discrete Real Activity Variable

Carlo Bianca 1,2 and Marco Menale 1,3,*

- Laboratoire Quartz EA 7393, École Supérieure d'Ingénieurs en Génie Électrique, Productique et Management Industriel, 95092 Cergy Pontoise CEDEX, France; c.bianca@ecam-epmi.com
- Laboratoire de Recherche en Eco-innovation Industrielle et Energétique, École Supérieure d'Ingénieurs en Génie Électrique, Productique et Management Industriel, 95092 Cergy Pontoise CEDEX, France
- Dipartimento di Matematica e Fisica, Università degli Studi della Campania "L. Vanvitelli", Viale Lincoln 5, I-81100 Caserta, Italy
- * Correspondence: marco.menale@unicampania.it

Received: 28 November 2019; Accepted: 17 December 2019; Published: 2 January 2020



Abstract: This paper deals with the mathematical analysis of a thermostatted kinetic theory equation. Specifically, the assumption on the domain of the activity variable is relaxed allowing for the discrete activity to attain real values. The existence and uniqueness of the solution of the related Cauchy problem and of the related non-equilibrium stationary state are established, generalizing the existing results.

Keywords: real activity variable; thermostat; nonlinearity; complex systems; Cauchy problem

1. Introduction

The mathematical analysis of a differential equation is usually based on the existence and uniqueness of a positive solution of the related Cauchy problem and on the dependence on the initial data (well-posed problem) [1,2]. The well-posed problem is analyzed under some (usually strongly) assumptions. However, if the differential equation is proposed as a general paradigm for the derivation of a mathematical model for a complex system [3,4], the definition of the assumptions is a delicate issue considering the restrictions that can be required on the system under consideration.

The present paper aims at generalizing the mathematical analysis of the discrete thermostatted kinetic theory framework recently proposed in [5,6] and employed in [7] for the modeling of the pedestrian dynamics into a metro station. The mathematical framework consists of a nonlinear differential equations system derived considering the balancing into the elementary volume of the microscopic states (space, velocity, strategy or activity) of the gain and loss particle-flows. The mathematical framework contains also a dissipative term, called thermostat, for balancing the action of an external force field which acts on the complex system, thus moving the system out-of-equilibrium [8,9]. The thermostat term allows for the existence and thus the modeling of the non-equilibrium stationary (possibly steady) states; see, among others, [10–15].

The mathematical analysis presented in [5] is based on the assumption that the discrete activity variable is greater than 1. In order to model complex systems, such as social and economical systems [16–20], the possibility for the activity variable to also attain negative values should be planned. Accordingly, this paper is devoted to a further generalization of the existence and uniqueness of the solution and of the non-equilibrium stationary solution for a real activity variable.

The present paper is organized as follows: after this introduction, Section 2 is devoted to the main definitions of the differential framework and the related non equilibrium stationary states; Section 3 deals with the new mathematical results.

Mathematics 2020, 8, 57 2 of 8

2. The Mathematical Framework

Let $\mathbb{E}_p > 0$, $I_u = \{u_1, u_2, ..., u_n\}$, $u_i \in \mathbb{R}$, $\eta_{h,k} : I_u \times I_u \to \mathbb{R}^+$, $B_{hk}^i : I_u \times I_u \times I_u \to \mathbb{R}^+$, and $F_i : [0, +\infty[\to \mathbb{R}^+, \text{ for } i, h, k \in \{1, 2, ..., n\}.$

This paper is devoted to the mathematical analysis of the solutions $f_i: [0, +\infty[\to \mathbb{R}^+ \text{ of the following system of } n \text{ nonlinear ordinary differential equations (called discrete thermostatted kinetic framework):}$

$$\frac{df_i}{dt}(t) = J_i[\mathbf{f}](t) + T_i[\mathbf{f}](t), \qquad i \in \{1, 2, \dots, n\},\tag{1}$$

where $\mathbf{f}(t) = (f_1(t), f_2(t), \dots, f_n(t))$ is the vector solution, and $J_i[\mathbf{f}](t) := G_i[\mathbf{f}](t) - L_i[\mathbf{f}](t)$ and $T_i[\mathbf{f}](t)$ are the operators defined as follows:

$$G_i[\mathbf{f}] := \sum_{h=1}^n \sum_{k=1}^n B_{hk}^i \, \eta_{hk} \, f_h(t) f_k(t);$$

$$L_i[\mathbf{f}] := f_i(t) \sum_{k=1}^n \eta_{hk} f_k(t);$$

$$T_i[\mathbf{f}](t) := F_i - \left(rac{\sum\limits_{j=1}^n u_j^p \left(J_j[\mathbf{f}] + F_j
ight)}{\mathbb{E}_p}
ight) f_i(t).$$

Let $\mathbb{E}_p[\mathbf{f}](t)$ be the *p*th-order moment:

$$\mathbb{E}_p[\mathbf{f}](t) = \sum_{i=1}^n u_i^p f_i(t), \qquad p \in \mathbb{N},$$

and \mathcal{R}^p the following function space:

$$\mathcal{R}^p := \left\{ \mathbf{f} \in C \left([0, +\infty[; (\mathbb{R}^+)^n) : \mathbb{E}_v[\mathbf{f}](t) = \mathbb{E}_v \right\} \right\}.$$

Let $\mathbf{f}^0 \in \mathcal{R}^p$, the Cauchy problem related to Equation (1) reads:

$$\begin{cases} \frac{d\mathbf{f}(t)}{dt} = \mathbf{J}[\mathbf{f}](t) + \mathbf{T}[\mathbf{f}](t) & t \in [0, +\infty[\\ \mathbf{f}(0) = \mathbf{f}^0, \end{cases}$$
 (2)

where $J[f] = G[f] - L[f] = (J_1[f], J_2[f], ..., J_n[f]) = (G_1[f] - L_1[f], G_2[f] - L_2[f], ..., G_n[f] - L_n[f])$ and $T[f] = (T_1[f], T_2[f], ..., T_n[f])$.

The existence and uniqueness of the solution of the Cauchy problem (2) have been proved in [5], under the main assumption $u_i \ge 1$, for $i \in \{1, 2, ..., n\}$. This paper aims at generalizing the result of [5] when $u_i \in \mathbb{R}$.

A non-equilibrium stationary state of the framework (1) is a constant function f_i , for $i \in \{1, 2, ..., n\}$, solution of the following problem:

$$J_i[\mathbf{f}] - \left(\frac{\sum_{j=1}^n u_j^p (J_j[\mathbf{f}] + F_j)}{\mathbb{E}_p}\right) f_i = 0.$$
(3)

Mathematics 2020, 8, 57 3 of 8

The existence and uniqueness of the non-equilibrium stationary state have been shown in [6] under the assumption $u_i \ge 1$, for all $i \in \{1, 2, ..., n\}$. This result can be relaxed as stated in Theorem 2.

Remark 1. Nonlinear systems (1) are a mathematical framework proposed in [5] for the modeling of a complex system C homogeneous with respect to the mechanical variables (space and velocity), where u, called activity, models the states of the particles. The function f_i , for $i \in \{1, 2, ..., n\}$, denotes the distribution function of the ith functional subsystem.

3. The Generalized Results

Let $||x||_p$ be the ℓ^p -norm on \mathbb{R}^n :

$$||x||_p := \left(\sum_{i=1}^n x_i^p\right)^{\frac{1}{p}},$$

and $\bar{\mathbb{E}}_p$ the following number:

$$\bar{\mathbb{E}}_p := \sup_{t>0} \left(\sum_{i=1}^n |u_i|^p f_i(t) \right). \tag{4}$$

It is worth stressing that, if p is even, then $\bar{\mathbb{E}}_p = \mathbb{E}_p$; if p is odd, then $\mathbb{E}_p \leq \bar{\mathbb{E}}_p$.

The main result of the paper follows.

Theorem 1. Let $p \in \mathbb{N}$, $\bar{\mathbb{E}}_p < \infty$ and $\mathbf{f}^0 \in \mathcal{R}^p$. Assume that

- $u_i \in \mathbb{R} \setminus \{0\};$
- $\sum_{i=1}^{n} B_{hk}^{i} = 1$, for all $h, k \in \{1, 2, ..., n\}$;
- There exists a constant $\eta > 0$ such that $\eta_{hk} \leq \eta$, for all $h, k \in \{1, 2, ..., n\}$;
- There exists a constant F > 0 such that $F_i(t) \le F$, for all $i \in \{1, 2, ..., n\}$ and $t \ge 0$.

Then, there exists a unique positive function $\mathbf{f} \in \mathcal{R}^p$ which is solution of the Cauchy problem (2).

Proof. Let $\mathbf{f}, \mathbf{g} \in \mathcal{R}^p$. Since $\sum_{i=1}^n B_{hk}^i = 1$, for all $h, k \in \{1, 2, \dots, n\}$, one has:

$$\|\mathbf{G}[\mathbf{f}] - \mathbf{G}[\mathbf{g}]\|_{1} = \sum_{i=1}^{n} |G_{i}[\mathbf{f}] - G_{i}[\mathbf{g}]|$$

$$= \sum_{i=1}^{n} \left| \sum_{h=1}^{n} \sum_{k=1}^{n} B_{hk}^{i} \eta_{hk} f_{h}(t) f_{k}(t) - \sum_{h=1}^{n} \sum_{k=1}^{n} B_{hk}^{i} \eta_{hk} g_{h}(t) g_{k}(t) \right|$$

$$= \sum_{i=1}^{n} \left| \sum_{h=1}^{n} \sum_{k=1}^{n} B_{hk}^{i} \eta_{hk} (f_{h}(t) f_{k}(t) - g_{h}(t) g_{k}(t)) \right|$$

$$\leq \eta \sum_{h=1}^{n} \sum_{k=1}^{n} |f_{h}(t) f_{k}(t) - g_{h}(t) g_{k}(t)|$$

$$\leq \eta \sum_{h=1}^{n} \sum_{k=1}^{n} |f_{h}(t) f_{k}(t) - f_{h}(t) g_{k}(t) + f_{h}(t) g_{k}(t) - g_{h}(t) g_{k}(t)|$$

$$\leq \eta \left| \sum_{h=1}^{n} f_{h}(t) + \sum_{h=1}^{n} g_{h}(t) \right| \sum_{k=1}^{n} |f_{k}(t) - g_{k}(t)|$$

$$= \eta (\|\mathbf{f}\|_{1} + \|\mathbf{g}\|_{1}) \|\mathbf{f} - \mathbf{g}\|_{1}$$

$$= \eta \|\mathbb{E}_{0}[\mathbf{f}](t) + \mathbb{E}_{0}[\mathbf{g}](t) \|\mathbf{f} - \mathbf{g}\|_{1},$$

Mathematics 2020, 8, 57 4 of 8

and

$$\|\mathbf{L}[\mathbf{f}] - \mathbf{L}[\mathbf{g}]\|_{1} = \sum_{i=1}^{n} \left| f_{i}(t) \sum_{k=1}^{n} \eta_{ik} f_{k}(t) - g_{i}(t) \sum_{k=1}^{n} \eta_{ik} g_{i}(t) \right|$$

$$\leq \eta \|\mathbb{E}_{0}[\mathbf{f}](t) + \mathbb{E}_{0}[\mathbf{g}](t) \|\mathbf{f} - \mathbf{g}\|_{1}.$$
(6)

Since

$$|\mathbb{E}_0[\mathbf{f}]| = \left| \sum_{i=1}^n f_i(t) \right| = \left| \sum_{i=1}^n \frac{u_i^p}{u_i^p} f_i(t) \right|,\tag{7}$$

if $L:=\max_{0\leq i\leq n}\left\{\frac{1}{|u_i|^p}\right\}$, then, by Equation (7), one has:

$$|\mathbb{E}_0[\mathbf{f}]| \le L \sum_{i=0}^n |u_i|^p f_i(t) \le L \bar{\mathbb{E}}_p.$$
(8)

By Equations (5), (6) and (8), one has:

$$\|\mathbf{J}[\mathbf{f}] - \mathbf{J}[\mathbf{g}]\|_{1} \leq 2 \eta \|\mathbb{E}_{0}[\mathbf{f}] + \mathbb{E}_{0}[\mathbf{g}]\| \|\mathbf{f} - \mathbf{g}\|_{1}$$

$$\leq 4 \eta L \mathbb{\bar{E}}_{p} \|\mathbf{f} - \mathbf{g}\|_{1}.$$
(9)

Moreover:

$$\|\mathbf{T}[\mathbf{f}] - \mathbf{T}[\mathbf{g}]\|_{1} = \sum_{i=1}^{n} |T_{i}[\mathbf{f}] - T_{i}[\mathbf{g}]|$$

$$= \sum_{i=1}^{n} \left| \left(\frac{\sum_{j=1}^{n} u_{j}^{p} (J_{j}[\mathbf{f}] + F_{j})}{\mathbb{E}_{p}} \right) f_{i}(t) - \left(\frac{\sum_{j=1}^{n} u_{j}^{p} (J_{j}[\mathbf{g}] + F_{j})}{\mathbb{E}_{p}} \right) g_{i}(t) \right|$$

$$\leq \sum_{i=1}^{n} \left(\frac{\sum_{j=1}^{n} u_{j}^{p} F_{j}}{\mathbb{E}_{p}} \right) |f_{i}(t) - g_{i}(t)| + \sum_{i=1}^{n} \left| \left(\frac{\sum_{j=1}^{n} u_{j}^{p} J_{j}[\mathbf{f}]}{\mathbb{E}_{p}} \right) f_{i}(t) - \left(\frac{\sum_{j=1}^{n} u_{j}^{p} J_{j}[\mathbf{g}]}{\mathbb{E}_{p}} \right) g_{i}(t) \right|$$

$$= \left(\frac{\sum_{j=1}^{n} u_{j}^{p} F_{j}}{\mathbb{E}_{p}} \right) \|\mathbf{f}(t) - \mathbf{g}(t)\|_{1} + \sum_{i=1}^{n} \left| \left(\frac{\sum_{j=1}^{n} u_{j}^{p} J_{j}[\mathbf{f}]}{\mathbb{E}_{p}} \right) f_{i}(t) - \left(\frac{\sum_{j=1}^{n} u_{j}^{p} J_{j}[\mathbf{g}]}{\mathbb{E}_{p}} \right) g_{i}(t) \right|.$$

$$(10)$$

Mathematics 2020, 8, 57 5 of 8

Bearing the expressions of the operator J[f] in mind, one has:

$$\sum_{i=1}^{n} \left| \left(\frac{\sum_{j=1}^{n} u_{j}^{p} J_{j}[\mathbf{f}]}{\mathbb{E}_{p}} \right) f_{i}(t) - \left(\frac{\sum_{j=1}^{n} u_{j}^{p} J_{j}[\mathbf{g}]}{\mathbb{E}_{p}} \right) g_{i}(t) \right| \\
= \sum_{i=1}^{n} \left| \frac{1}{\mathbb{E}_{p}} \sum_{l=1}^{n} u_{l}^{p} J_{l}[\mathbf{f}] f_{i}(t) - \frac{1}{\mathbb{E}_{p}} \sum_{l=1}^{n} u_{l}^{p} J_{l}[\mathbf{g}] g_{i}(t) \right| \\
= \sum_{i=1}^{n} \left| \frac{1}{\mathbb{E}_{p}} \sum_{l=1}^{n} u_{l}^{p} \sum_{h=1}^{n} \sum_{k=1}^{n} B_{hk}^{l} \eta_{hk} f_{h}(t) f_{k}(t) f_{i}(t) \right| \\
- \frac{1}{\mathbb{E}_{p}} \sum_{l=1}^{n} u_{l}^{p} f_{l}(t) \sum_{k=1}^{n} \eta_{lk} f_{k}(t) f_{i}(t) \\
- \frac{1}{\mathbb{E}_{p}} \sum_{l=1}^{n} u_{l}^{p} \sum_{h=1}^{n} \sum_{k=1}^{n} B_{hk}^{l} \eta_{hk} g_{h}(t) g_{i}(t) \\
+ \frac{1}{\mathbb{E}_{p}} \sum_{l=1}^{n} u_{l}^{p} g_{l}(t) \sum_{k=1}^{n} \eta_{lk} g_{k}(t) g_{i}(t) \\
\leq \sum_{i=1}^{n} \left| \frac{1}{\mathbb{E}_{p}} \sum_{l=1}^{n} u_{l}^{p} \sum_{h=1}^{n} \sum_{k=1}^{n} B_{hk}^{l} \eta_{hk} (f_{h}(t) f_{k}(t) f_{i}(t) - g_{h}(t) g_{k}(t) g_{i}(t)) \right| \\
+ \eta \sum_{i=1}^{n} \sum_{k=1}^{n} |f_{k}(t) f_{i}(t) - g_{k}(t) g_{i}(t)| \\
\leq \frac{\eta \sum_{j=1}^{n} u_{j}^{p}}{\mathbb{E}_{p}} \sum_{i=1}^{n} \sum_{h=1}^{n} \sum_{k=1}^{n} |f_{h}(t) f_{k}(t) f_{i}(t) - g_{h}(t) g_{k}(t) g_{i}(t)| \\
+ \eta \sum_{i=1}^{n} \sum_{k=1}^{n} |f_{h}(t) f_{i}(t) - g_{k}(t) g_{i}(t)| .$$

Since **f** and **g** belong to the space \mathbb{R}^p , by Equation (8), one has:

$$\sum_{i=1}^{n} \sum_{h=1}^{n} \sum_{k=1}^{n} |f_{h}(t)f_{k}(t)f_{i}(t) - g_{h}(t)g_{k}(t)g_{i}(t)|$$

$$= \sum_{i=1}^{n} \sum_{h=1}^{n} \sum_{k=1}^{n} \left| f_{h}(t)f_{k}(t)f_{i}(t) - f_{h}(t)f_{k}(t)g_{i}(t) + f_{h}(t)f_{k}(t)g_{i}(t) \right|$$

$$- g_{i}(t)g_{h}(t)f_{k}(t) + g_{i}(t)g_{h}(t)f_{k}(t) - g_{h}(t)g_{k}(t)g_{i}(t) \Big|$$

$$= \sum_{i=1}^{n} \sum_{h=1}^{n} \sum_{k=1}^{n} |f_{h}(t)f_{k}(t)(f_{i}(t) - g_{i}(t)) + g_{i}(t)f_{k}(t)(f_{h}(t) - g_{h}(t)) + g_{i}(t)g_{h}(t)(f_{k}(t) - g_{k}(t))|$$

$$\leq \sum_{h=1}^{n} f_{h}(t) \sum_{k=1}^{n} f_{k}(t) \sum_{i=1}^{n} |f_{i}(t) - g_{i}(t)| + \sum_{i=1}^{n} g_{i}(t) \sum_{k=1}^{n} |f_{h}(t) - g_{h}(t)|$$

$$+ \sum_{i=1}^{n} g_{i}(t) \sum_{h=1}^{n} g_{h}(t) \sum_{k=1}^{n} |f_{k}(t) - g_{k}(t)|$$

$$\leq ||\mathbf{f} - \mathbf{g}||_{1} \left(\mathbb{E}_{0}^{2}[\mathbf{f}] + \mathbb{E}_{0}[\mathbf{f}]\mathbb{E}_{0}[\mathbf{g}] + \mathbb{E}_{0}^{2}[\mathbf{g}] \right)$$

$$\leq ||\mathbf{f} - \mathbf{g}||_{1} \left(\mathbb{E}_{0}[\mathbf{f}] + \mathbb{E}_{0}[\mathbf{g}] \right)^{2}$$

$$\leq ||\mathbf{f} - \mathbf{g}||_{1} \left(\mathbb{E}_{0}[\mathbf{f}] + \mathbb{E}_{0}[\mathbf{g}] \right)^{2}$$

Mathematics 2020, 8, 57 6 of 8

By Equation (8), one has:

$$\sum_{i=1}^{n} \sum_{k=1}^{n} |f_h(t)f_i(t) - g_h(t)g_i(t)| \leq (\mathbb{E}_0[\mathbf{f}] + \mathbb{E}_0[\mathbf{g}]) \|\mathbf{f} - \mathbf{g}\|_1$$

$$\leq 2 L \bar{\mathbb{E}}_p \|\mathbf{f} - \mathbf{g}\|_1.$$
(13)

By Equations (10)–(13), one has:

$$\|\mathbf{T}[\mathbf{f}] - \mathbf{T}[\mathbf{g}]\|_{1} \leq \left[\left(\frac{\sum_{j=1}^{n} u_{j}^{p} F_{j}}{\mathbb{E}_{p}} \right) + 4 \eta \sum_{j=1}^{n} u_{j}^{p} L^{2} \frac{\left(\bar{\mathbb{E}}_{p}\right)^{2}}{\mathbb{E}_{p}} + 2 \eta L \bar{\mathbb{E}}_{p} \right] \|\mathbf{f} - \mathbf{g}\|_{1}.$$

$$(14)$$

According to Equation (9) and Equation (14), the operators J[f] and T[f] are locally Lipschitz in f, uniformly in t. Then, there exists a unique local solution of the Cauchy problem (2), and the solution f belongs to the space \mathcal{R}^p (see Theorem 4.1 of [5]). The global existence of the solution is gained because f is globally bounded, for all t > 0, i.e., by Equation (7), one has:

$$\left|\sum_{i=1}^n f_i(t)\right| \le L\,\bar{\mathbb{E}}_p < +\infty, \quad \forall t > 0.$$

Then, the proof is gained . \Box

Remark 2. If $u_i = 0$, Theorem 1 holds true if f_i is a bounded function, i.e., $\exists K > 0$ such that

$$|f_i(t)| \leq K$$
, $\forall t > 0$.

Indeed, if l is such that $u_1 = 0$, the estimates inequalities (8), (9), and (14) rewrite:

$$|\mathbb{E}_0[\mathbf{f}]| \le L \sum_{i=1|u_i \ne 0}^n |u_i|^p f_i(t) + K \le L \bar{\mathbb{E}}_p + K,$$

$$|\mathbf{J}[\mathbf{f}] - \mathbf{J}[\mathbf{g}]|_1 \le 4 M (L\overline{\mathbb{E}}_p + K)^2 ||\mathbf{f} - \mathbf{g}||_1$$

$$\begin{split} &\|\mathbf{T}[\mathbf{f}] - \mathbf{T}[\mathbf{g}]\|_{1} \leq \\ &\leq \left[\left(\frac{\sum_{j=1}^{n} u_{j}^{p} F_{j}}{\mathbb{E}_{p}} \right) + \frac{4 M \sum_{j=1}^{n} u_{j}^{p}}{\mathbb{E}_{p}} (L \, \bar{\mathbb{E}}_{p} + K)^{2} + 2 M (L \, \bar{\mathbb{E}}_{p} + K) \right] \|\mathbf{f} - \mathbf{g}\|_{1}. \end{split}$$

Theorem 2. *Let* $p \in \mathbb{N}$ *. Assume that*

- $u_i \in \mathbb{R} \setminus \{0\};$
- $\sum_{i=1}^{n} B_{hk}^{i} = 1$, for all $h, k \in \{1, 2, ..., n\}$;
- There exists a constant $\eta > 0$ such that $\eta_{hk} \leq \eta$, for all $h, k \in \{1, 2, ..., n\}$;
- There exists a constant F > 0 such that $F_i \le F$, for all $i \in \{1, 2, ..., n\}$;
- The following bound holds true:

$$F > \eta \left[\frac{2 \mathbb{E}_p^2}{\sum_{j=1}^n u_j^p} L + 4 L^2 \mathbb{E}_p^2 \right], \tag{15}$$

Mathematics 2020, 8, 57 7 of 8

where
$$L := \max_{u_i \neq 0} \left\{ \frac{1}{|u_i|^p} \right\}$$
.

Then, there exists a unique positive nonequilirbium stationary solution $\mathbf{f} = (f_1, f_2, \dots, f_n) \in \mathcal{R}^p$ of the (3).

Proof. The non-equilibrium stationary problem (3) can be rewritten, for $i \in \{1, 2, ..., n\}$, as the following fixed point problem (see [6]):

$$f_i = S_i[\mathbf{f}] := \frac{\eta}{F} \left(\frac{\mathbb{E}_p}{\|\mathbf{U}^p\|_1} - f_i \right) \left(\sum_{h=1}^n \sum_{k=1}^n B_{hk}^i f_h f_k \right) + \frac{\mathbb{E}_p}{\sum_{j=1}^n u_j^p}. \tag{16}$$

By straightforward calculations, one has:

$$\|\mathbf{S}[\mathbf{f}] - \mathbf{S}[\mathbf{g}]\|_{1} \leq \frac{\eta}{F} \left(\frac{\mathbb{E}_{p}}{\sum_{j=1}^{n} u_{j}^{p}} \sum_{h=1}^{n} \sum_{k=1}^{n} |f_{h}f_{k} - g_{h}g_{k}| \right) + \frac{\eta}{F} \sum_{i=1}^{n} \left| (f_{i} - g_{i}) \sum_{h=1}^{n} \sum_{k=1}^{n} B_{hk}^{i} (f_{h}f_{k} - g_{h}g_{k}) \right|.$$
(17)

Furthermore, by the same arguments of the Theorem 1, one has:

$$\sum_{h=1}^{n} \sum_{k=1}^{n} |f_h f_k - g_h g_k| \le \|\mathbf{f} - \mathbf{g}\|_1 \left(\mathbb{E}_0[\mathbf{f}] + \mathbb{E}_0[\mathbf{g}] \right)$$

$$\le 2\|\mathbf{f} - \mathbf{g}\|_1 L \, \mathbb{E}_p. \tag{18}$$

Moreover,

$$\sum_{i=1}^{n} \left| (f_i - g_i) \sum_{h=1}^{n} \sum_{k=1}^{n} B_{hk}^i (f_h f_k - g_h g_k) \right|
\leq \|\mathbf{f} - \mathbf{g}\|_1 \left(\mathbb{E}_0^2 [\mathbf{f}] + \mathbb{E}_0^2 [\mathbf{g}] \right)
\leq 4 \|\mathbf{f} - \mathbf{g}\|_1 L^2 \left(\bar{\mathbb{E}}_p \right)^2.$$
(19)

Finally, by Equations (18) and (19), (17) rewrites:

$$\|\mathbf{S}[\mathbf{f}] - \mathbf{S}[\mathbf{g}]\|_{1} \leq \frac{\eta}{F} \left[\frac{\mathbb{E}_{p}}{\sum_{i=1}^{n} u_{i}^{p}} 2L \,\bar{\mathbb{E}}_{p} + 4L^{2} \left(\bar{\mathbb{E}}_{p}\right)^{2} \right] \|\mathbf{f} - \mathbf{g}\|_{1}, \tag{20}$$

and, by assumption Equation (15), there exists a unique fixed point of the problem (16) (see [21]). Then, there exists a unique non-equilibrium stationary state for problem (3). \Box

Remark 3. If $u_i = 0$, the Theorem 2 holds true if the ℓ_1 -norm of \mathbf{f} is bounded, i.e.,

$$\|\mathbf{f}\|_{1} \leq K$$
.

Indeed, condition (15) *rewrites:*

$$F > \eta \left[\frac{\mathbb{E}_p}{\sum_{i=1}^n u_i^p} 2(L \,\bar{\mathbb{E}}_p + K) + 4(L \,\bar{\mathbb{E}}_p + K)^2 \right].$$

Author Contributions: Conceptualization, C.B. and M.M.; methodology, C.B. and M.M.; formal analysis, C.B. and M.M.; investigation, C.B. and M.M.; resources, C.B. and M.M.; writing—original draft preparation, C.B. and M.M.; writing—review and editing, C.B. and M.M.; supervision, C.B. All authors have read and agreed to the published version of the manuscript.

Mathematics 2020, 8, 57 8 of 8

Funding: This research received no external funding.

Conflicts of Interest: The authors declare no conflict of interest.

References

1. Coddington, E.A.; Levinson, N. *Theory of Ordinary Differential Equations*; Tata McGraw-Hill Education: New York, NY, USA, 1955.

- 2. Sattinger, D.H. Topics in Stability and Bifurcation Theory; Springer: Berlin, Germany, 2006; Volume 309.
- 3. Holland, J.H. Studying complex adaptive systems. J. Syst. Sci. Complex. 2006, 19, 1–8. [CrossRef]
- 4. Bar-Yam, Y. Dynamics of Complex Systems; CRC Press: Boca Raton, FL, USA, 2019.
- 5. Bianca, C.; Mogno, C. Qualitative analysis of a discrete thermostatted kinetic framework modeling complex adaptive systems. *Commun. Nonlinear Sci. Numer. Simul.* **2018**, *54*, 221–232. [CrossRef]
- 6. Bianca, C.; Menale, M. Existence and uniqueness of non-equilibrium stationary solutions in discrete thermostatted models. *Commun. Nonlinear Sci. Numer. Simul.* **2019**, *73*, 25–34. [CrossRef]
- 7. Bianca, C.; Mogno, C. Modelling pedestrian dynamics into a metro station by thermostatted kinetic theory methods. *Math. Comput. Model. Dyn. Syst.* **2018**, 24, 207–235. [CrossRef]
- 8. Dickson, A.; Dinner, A.R. Enhanced sampling of non-equilibrium steady states. *Annu. Rev. Phys. Chem.* **2010**, *61*, 441–459. [CrossRef] [PubMed]
- 9. Wu, J. Non-equilibrium stationary states from the equation of motion of open systems. *New J. Phys.* **2010**, *12*, 083042. [CrossRef]
- 10. Eckmann, J.P.; Pillet, C.A.; Rey-Bellet, L. Non-equilibrium statistical mechanics of anharmonic chains coupled to two heat baths at different temperatures. *Commun. Math. Phys.* **1999**, *201*, 657–697. [CrossRef]
- 11. Wennberg, B.; Wondmagegne, Y. Stationary states for the Kac equation with a Gaussian thermostat. *Nonlinearity* **2004**, *17*, 633. [CrossRef]
- 12. Derrida, B. Non-equilibrium steady states: fluctuations and large deviations of the density and of the current. *J. Stat. Mech.* **2007**, *7*, P07023. [CrossRef]
- 13. Jepps, O.G.; Rondoni, L. Deterministic thermostats, theories of non-equilibrium systems and parallels with the ergodic condition. *J. Phys. Math. Theor.* **2010**, *43*, 133001. [CrossRef]
- 14. Tjhung, E.; Cates, M.E.D. Marenduzzo Non-equilibrium steady states in polar active fluids. *Soft Matter* **2011**, *7*, 7453–7464. [CrossRef]
- 15. Hurowitz, D.; Rahav, S.; Cohen, D. The non-equilibrium steady state of sparse systems with non-trivial topology. *EPL Europhys. Lett.* **2012**, *98*, 20002. [CrossRef]
- 16. Bronson, R.; Jacobson, C. Modeling the dynamics of social systems. *Comput. Math. Appl.* **1990**, *19*, 35–42. [CrossRef]
- 17. Carbonaro, B.; Serra, N. Towards mathematical models in psychology: A stochastic description of human feelings. *Math. Model. Methods Appl. Sci.* **2002**, *12*, 1453–1490. [CrossRef]
- 18. Karmeshu, V.P.J. Non-Linear Models of Social Systems. Econ. Political Wkly. 2003, 38, 3678–3685.
- 19. Giorno, V.; Spina, S. Rumor spreading models with random denials. *Phys. Stat. Mech. Its Appl.* **2016**, 461, 569–576. [CrossRef]
- 20. Dobson, A.D.; de Lange, E.; Keane, A.; Ibbett, H.; Milner-Gulland, E.J. Integrating models of human behaviour between the individual and population levels to inform conservation interventions. *Philos. Trans. R. Soc.* **2019**, *374*, 20180053. [CrossRef] [PubMed]
- 21. Granas, A.; Dugundji, J. Fixed Point Theory; Springer Science & Business Media: Berlin, Germany, 2013.



© 2020 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http://creativecommons.org/licenses/by/4.0/).